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A:[All Alz],B:[Bn BIZ]C:[CII CIZ}

Cii=A1 B +Ap- By

Co=An-Bin+Ap-Bxn

Cy1 = Az - By + Ay - By

Cyp =Ay B +Apn - By

I=(A11 +Ap)- (B + By)

II = (Ay; + Ap) - By

I =Ay - (B2 — Bx)

IV = Ay - (=B + Bay)
V=(A1+Ap) By

VI = (=Ay1 +Az) - (Bi1 + Bp2))

VII = (A2 — Ap) - (Byr + By)

Cyp=I+IV-V+VII
Cy =1I+1V
Cp=1I+V
Cp=1+1I-1T+ VI

Ci1 = (A1 +Ap) - (Bii + Bp) + Ay - (=B + By1) — (A1 + A12) - By + (A2 — Ap) - (B + Bp)Cyy
Ci1 =AnBi +An1By + ApBiy + ApBy — ApBi + ApBy — A11By — A1pBy + A1pByy + AjpBy — Ay By — Ay By
Ci1 =AnBy +ApBy

1 Winograd

xX1y1 + x0y2 = (X1 + y2)(y1 + x2) — X1x2 — Y12
X=X, 5 %), Y = (V1 0, Yn)

Ln/2]
&= Z X2j-1 X2
j=1
ln/2]
n= D V2t ¥
J=1
ln/2]
D a1 + 3200 + Y2 =€ =1 if n is even

_ )=l
(X,y>— ln/2]

Z (X2j-1 + y2,)(x2j + y2j-1) — € =+ Xy, if nis odd
=1
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